XYZ,=97.06 , 99.99 , 104.57 100 Bl Parameter: XYZ,=97.45,100.0, 95.98 Parameter:
56-a,)Y {95y, Y&Name 256,-3,)Y Y & Name
B,=25B,(b,-b, ) Y S Lichtart P60 B,=25B,(b,- b, )Y Lichtart P55
a =ay[(x-x.)/) *+. Yw=100 Y,=10 a azu[(xfxc)ly] Y,,~100Q Y, =10
=bylz/y L bylz/y
%=1, b =-04 1, by=-04
X, =0,110,B, = 1,000 : X, = 0,110, B, = 1,000
Crgi=[A7+B{]2 ' Crgi=[A7+B]2
6 OstwaldFarben (0) N H N pany 6 OstwaldFarben (o)
von maximalem (m)C,g im _1'00 E ' peo\/ von maximalem (m)C, im ~100 :
Buntwertdiagram (A,, B)) ' Buntwertdiagram (A,, B))
Lichtart P60, Y,,=10Q Y, =10 54(:“ O Lichtart PS5, Y,,=100 Y,=10
Name BerechX, ¥, Z, Xy Yy Ay A | Name Bereich X, Y, Z, %, Y, A, A
R, 568_775 6622 4607 10.6 05386 03748 556 489 R, 569_775 67.41 4623 9.73 05463 03747597 490 "~
V494 775 8147 9513 1633 04222 0493 571 463 . Y| 494775 83.23 95.26 1502 043 0.4922572 464 AR
G, 494568 25.06 59.16 16.28 0.2493 0.5886 535 535¢ AR et G, 494_569 25,67 59.13 14.98 0.2572 0.5926 536 536¢ N e
' 380_568 4066 64.03 1045301943 0306 489 596 N C? 380569 30.9 6287 95,94 01997 0,318 490 597 s,
B, 380494254 14.97 98.81 0.1825 01075463 571 -158; B, 380_494 24.07 14.84 90.66 01857 01145 464 572
W, 568_494 8162 50,04 98,85 03532 0.2199 535535 -1001 W, 569 494 81,63 50.97 90.7 0.3655 0.228 5360536 -100
W, 380_775 97.06 99.99 10457 0.3218 03315 100% W,380_775 97.45 100.0 95.98 03321 0.3407 100%
N, 38077597 999 1045 03218 0.3315 10% N, 380775974 100 959 0332103407 10%
2, 380_775 17.47 17.99 18.82 0.3218 0.3315 18% 7, 380775 17.54 180 17.27 03321 0.3407 18%
BGH20-1A BGH20-2A
XYZ,=98.12,100.0, 86.5 B; Parameter: XYZW*QQ 2,100.0,76.07 B, Parameter:
100 1004
A=25@,-a,)Y Y & Name A=256-3,)Y Y & Name
B, = 2,58, (b, =by) Y Jigsy, Lichtart PO B,=25B, (b~ b, ) Y Lichtart P45
aj:am[(x x)/9 Lo ~ Y,,=100 Y,=10 aJ:azu[(x x.) /) .-59§Va Y,~=100 Y, =10
by=bylz /Y . by=byl2/ e
= = 62G!Q - L by=-0,4 e
% . I
f 3R, X=0,110.8_= 1,000 60G4Q
' ! H 2, 9112 '
CAE]‘[A12+B g ' Ay CABl [Af+B 2] .
6 OstwaldFarben (o) N [ ' 6 OstwaldFarben (o) N !
N . ., + + N . L, 0
von maxl‘r:alem (m)C,g im ~100 H 100 von maxl;.mlem (m)C,g im ~100 :
B.untwen iagram (A,, B;) 68G,0. B.untwen iagram (A, B,) 65G,:0.
Lichtart P50, Y,,=100 Y,=10 3 Lichtart P45, Y,,=100 Y,=10 “
Name Bereich X, Y, Z, X, Y, A, A AN Name BereichX, Y, Z, x, Y, A, A AN
R, 570775658 4256 877 0561703633601 491 >u R, 5727756054 451 772 366z 03085 o 402
V] 495775 85.35 04.55 1237 0.4439 04917 573 467 N Y, 497_775 88.11 95.27 11.47 0.4521 0.4889 574 467
G, 495_570 20.46 62.08 12.33 02836 05976 542 542c G, 497572 28.59 60.26 1143 0285 0.6009 541 541c
C, 380_570 42.24 67.54 86.47 02152 0.3441 491 601 C, 380 572 39.69 650 76.04 0.2196 0.3596 492 600
B, 380_495 22,68 1555 82.67 01872 0.1284 467 573 B, 380_497 21.12 14.83 7220 0951 0.137 467 574
W, 570_495 7857 48.02 8291 0375 02292 5420542 -100+ W, 572 497 80,64 49.84 72.33 03976 0.2457 5410541 -1004
W, 380_775 9812 100.0 865 03447 0.3513 100% W380_77599.2 1000 7607 03603 0.3632 100%
N, 380 775981 100 865 03447 0.3513 10% N, 380775992 100 76 03603 03632 10%
7, 380775 1766 180 1557 03447 0.3513 18% 7, 380775 17.65 180 13.69 03603 0.3632 18%
BGH20-3A BGH20-4A
XYZ,=100.93, 100 0, 64.68 1004 By Parameter: XYZ,,=103.66 , 99.99 , 52.43 1004 By Parameter:
A =256 -3 Y & Name Y & Name
B, =25B, (b, - b1 DY Lichtart P40 Lichtart P35
a,=ay [ (x-x,) /% ooy, w100 Y10 Y,,=100 Y,=10
b=bylz/y I el
8=1, 4 - - -2
x_= 0,110, B, = 1,000 506, 0 s = e .
c '
Crer=A+B{12 .?7% CABJ_[A12+812J”2 o166
6 OstwaldFarben (0) 1 oy Pary IR 6 OstwaldFarben (0) 1 o Pary
von maximalem (m)C, im ' paoY N T von maximalem (m)C, im _, ¢ T T d
" 28 '™ _100 ! T 100 " " -1006 1)
Buntwertdiagram (A,, By Buntwertdiagram (A,, B)) o 2
Lichtart P40, Y,,=100Q Y, =10 Lichtart P35, Y,,=100, Y, =10 T "
Name BereichX, Y, 2, %y ¥ A A, - Name BereicnX, Y, 2, % Yy A A R IES
R, 573775733 4700 657 05773'0.3708 600 493 R o R, 575775 7331 4409 532 05973 0.3502 605 496 d
Y, 498_775 9164 95.82 10.18 04636 0.4848576 468 a Y, 500775 96.26 95.08 7.49 04841 04781578 472
G, 498_573 28.53 56.83 10.14 0.2925 0.6033 540 540c G, 500575 33.41 61.08 7.46 03277 0.599 548 548c
C, 380_573 37.63 63.01 64.65 02285 0.3807 493 600 C, 380575 40,82 66.01 52.4 0.2563 0.4145 496 605
B, 380_498 19.49 14.28 6104 02055 0.1506 468 576 B, 380_500 17.88 1502 50.23 0215 0.1807 472 578
M, 573 498 826 5127 6108 0.4236 0.2629 5400540 -100 M, 575_500 80.73 49.02 50.26 0.4484 02723 5480548 =100
W, 380_775 100.900.0 64.68 0.3799 03764 100% W 380_775 103.680.99 52.43 0.4047 0.3904 100%
N, 380_77510.00 100 646 0.3799 0.3764 10% N, 3807751036 999 524 0.4047 0.3904 10%
7, 380775 1816 180 1164 03799 0.3764 18% 7, 380775 18.66 180 9.43 0.4047 0.3904 18%
BGH20-5A BGH20-6A
XYZ,=108.04 , 100 0,39.55 1004 By Parameter: XYZ,=115.18 , 100.0 , 26.59 1004 By Parameter:
A =256 -3 Y & Name A =256 -3,,)Y Y & Name
B, =258, (b, - b1 DY Lichtart P30 B Lichtart P25
a :am[(x x.) I Y,,=100 Y,=10 Y,=100 Y, =10
b =by[z/y 1 1
(A7 586, PSS
6 OstwaldFarben (o) N A 6 OstwaldFarben (o) | 58G9 A
N D
von maximalem (m)C,g im ’1°§26d'.() p3(} von maximalem (m)C, im 71@@%0. — p2§*
Buntwertdiagram (A,, By T Buntwertdiagram (A,, By TTEEE
Lichtart P30, %,,=100 Yy —10 R 7Y Lichtart P25, Y,,=100 Y, =10
Name Bereich X, 1 Name Bereich X, Y, Y 1
R, 578_775 8118 48.44 S “boork oaeba ok 4sa R, 582775 86.18 48.13 Srn ez 0astz e so2
Y, 503 775 102.66.33 63 04999 0.4693580 473 Y, 506 775 1116862 4.08 05268 0.4533583 478
G, 503578 32.34 57.98 626 0.3348 0.6003 546 546 G, 506582 37.13 56.16 405 03737 05853552 552
C, 380_578 37.77 6166 30.51 02718 0.4437 498 604 C, 380582 40.64 61.97 2656 0.3146 0.4797 502 608
B, 380_503 16.34 13.77 37.24 02426 0.2045 473 580 B, 380_506 1513 139 2519 0.2791 0.2563 478 583
M, 578_503 86,62 5212 37.28 0492 029615460546 -100 M, 582_506 89.69 5194 25.22 0.5375 031135520552 -100
W, 380_775 108.0100.0 30.55 0.4363 0.4038 100% W 380_775 115.1800.0 26.59 0.4764 0.4136 100%
N, 380775108 100 395 0.4363 0.4038 10% N, 380_775 1151 100 265 0.4764 0.4136 10%
7, 3807751944 180 711 04363 04038 18% 2, 380775 20.73 180 478 04764 0.4136 18%

BGH20-7A

BGH20-8A

esviniy




